
Possible Solutions 

 

One and six hundredths written as a fraction is 1 6/100, which is what Jet wrote. Below is one way to 

show it using a hundredths grid. You need one full large square to represent the whole number 1 

and any six out of the 100 small squares to represent the 6/100. 

 

 

 

 

 

 

 

 

 

Jet’s decimal number of 1.6 actually represents 1 and 6/10. Using the same large square as above 

and shading 6 of every 10 small squares covers a larger area (see below). He should have written 

1.06, as only 6 out of 100 squares are shaded. 

 

 

 

 

 

 

= 1 

= 1.6 

= 1.06 


